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1. RXOAZKEDHE L. (SHhas B, Afk17520%, B2 10%, C# 375 20% )

(1) 222 4+ 7x + 3 (2) 32 — Sxy + 4y?

(3) 222 —x — 15 (4) 622 + 5xy — 61>
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2. XOAXEREREX. (S50, A1 30%, Bik2m20%, C#34 30 )

(1) 322+8x+5 (2) 922 — 18xy + 8y?

(3)  42® — 5ay — 6y (4) 1222 - 11z —15
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REFRA N EBME TEENT 01 BREMRE

1. RXOAZKEDHE L. (SHhas B, Afk17520%, B2 10%, C# 375 20% )

* fcgEHITOAR
acr? + (ad + be)z + bd = (az + b)(cx + d)

CL>< b — be
c d — ad

ad + be

(1) 222+ Tx + 3 (2) 3z2 — Sxy + 4y?

1 3 — 6 1 -2 — -6
S 3 T
T -8
A =(x+3)(2x+1) 53X = (z — 2y)(3z — 2y)
DAV DAV
B2 B L THED»D 2Rz DT L) y 2RI 0 |
(3) 222 —x — 15 (4) 622 + bry — 6y°

1 -3 — -6 2 3 — 9
L T D 2T

-1 5

53 = (z — 3)(2z + 5) 53 = (2z + 3y)(3z — 2y)
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2. XOAXEREREX. (S50, A1 30%, Bik2m20%, C#34 30 )

(1) 322+8x+5
» <5 2,
8
G =(x+1)(8z + 5)
(3) 422 — 5xy — 6y
S
-5

Gl = (= — 2y)(4z + 3y)

(2) 922 — 18xy + 8y?

3 -2 — -6
3 >< -4 — =12

—18

53 = 8z — 2y)(3z — 4y)
(4) 1222 - 11z —15

3 -5 — =20
4 >< 3 — 9

—11

53X = (8z — 5)(4z + 3)
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